





I,J ’ZH‘ )





















L)

|

%
7K

o

P2

o

mf


























































160,000



32 4
337(6 req)
FE 7z NT e AL T—












27 R FE > BES £4 bug



r. 7

r:l—,—(]‘j‘



FOR U S ARMY













I
f’l’ N ﬂ%" N i N 6'.









?ff%)}”‘%”ﬁ-

LG m— = 5 iy G



H\

-4

>

H

l

€ %

ctrl+[1-9]

-\,

0.

|



| 2
PFd /s T1T ¢ AL T—
D01 (greas
8873 trecent time)
337 tonig greq)
2399 tnax greq









R Gl
FE s T o AL T—
501 (freq, 47 )
8873 tnecent ine, iz )
337 (onig greq, i)

2309 tnax greq, #30¢ do i)





















i 35 1T AR

X

i‘?



o i L

= o |- =



L
S EOBZSAEN L

8
-8

DO

G







G i



freq += (max greq - ondg freq) / n;
n=5, if [ curnent time - necent Ltime < 4000 )
n=10, 44 ( curnent time - necent Ltume < 50000 )






I F & (3023)+ A% (0)+ 7 (2536/512)+
Lo (6024)
=9002

DARA_(829)+ * A K (337)
=1166



= e
):ﬂ\
N
g SN

by sky00888















Pass 1:
l%,v‘]iﬁj“g* ﬁx{ ¥

Pass 2'









